SITUATION:

HH consists of mom, dad and 7 children. Mom and dad are both timed out of
CAWORK s and do not receive aid for themselves. There is dso an MFG child in
the home. They aso have earnings for our sample month.

QUESTION:

How do we compute the answer for T26C2 and T26C4? For T26C2, do we start
with the MAP for 9 and subtract from 8 and enter the answer? Are mom and dad
part of the equation since they are timed out? | would think we would include them
in the calculation for T26C2 and then T26C4 would be the MAP differential
between the 8 remaining and the 6 actually receiving.

ANSWER:

Start at the beginning.

If the MFG child was born prior to the time out, then use the MAP differential
between 9 and 8 for T26C2A. Then use the differential between 8 and 6 for
T26C4A. And vice versaif that is the chronology.



